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TABLE 10.3 Useful Equations in Rotational and Linear Motion

Rotational Motion
About a Fixed Axis

Linear Motion

Angular sp('('(l w = db/di [.inear spu'(l v = dx/di

Angular acceleration a = dw/ di
Resultant torque 27 = la

[.inear acceleration a = dv/ di

Resultant force 2 F = ma
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Rotational Kinetic energy Ky = 5/lw*
Power P = 1w Power P = Fu
Angular momentum L = lw

Resultant torque X7 = dL/ dt
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Conservation Laws

TABLE 11.1 Comparison of the relativistic and nonrelativistic properties of
energy, momentum, and mass of a pair of parrticles

Nonrelativistic Relativistic
Mass M= m, + nn M = m + m»
Conserved? always elastic collisions only

Conserved?

Momentum P = myu; + m>u, P= 2% 4+ ™
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